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1. “Entrepreneurship is the process of creating something

new by devoting time and efforts. Explain the Write short notes on any two:
meaning of entrepreneurship. How is it different from

| | i eneurshi

RN (a) Socio-economic support system for entrepr p
= (b) Start Up India initiative

“An entrepreneur is a person who functions as an (c) Conflicts in family pudell

innovator, manager and coordinator of resources.” &
Elaborate. Also discuss the role of entrepreneurs in ROIGGI ﬁm%ﬁ"ﬁﬁﬁ LEIERI «'él (v&e ) =

Indian context.
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3. Describe in detail, contents of a project report.
Explain the role of Self Help Groups (SHGs) in 8%
promoting entrepreneurship.
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4.

978 . 5
OR

Explain enterprise life cycle and the growth strategies

to be followed in each stage.
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6. Write §hort notes on any two:
(a) Social entrepreneurship
(b) Public and private system of simulation
(c) Sources of financing Startups

(d) Network Management
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PART-A: Business Mathematics

WAT-TY e defeaw

1. (a) A firm has two machines costing Rs. 4,50,000 and
Rs. 3,00,000. Each has 5 years® life with scrap value
nil. Find depreciation of each machine for each year
using matrix notation if (i) both are depreciated by
sum of the year’s digit method, (ii) first is depreciated
by sum of the year’s digit method and second by

straight line method. (3)

3

(b) One unit of commodity A is produced by combining

1 unit of X, 2 units of Y and 5 units of Z. One unit
of B is produced by combining 2 unité of X, 3 units
of Y and 1 unit of Z, one unit of C is produced
by 3 units of X, 1 unit of Y and 2 units of Z. If
the price of A, B and C are Rs. 27, Rs. 16 and

Rs. 19 respectively, find X, Y and Z using matrices.
(4)

Or

(¢) There are two families A and B. There are 4 men,

6 women and 2 children in family A and 2 men, 2
women, and 4 children in family B. The recommended
daily requirement for calories is 2,400 for man, 1,900
for woman and 1,800 for child. The recommended
daily requirement for proteins is 55 gram for man, 45
gram for woman and 33 gram for child. Using matrix
multiplication, calculate the total requirements of

calories and proteins for each of the two families.

3)

(d) An amount of Rs. 65,000 is invested in three

investments at the rate of 6%, 8% and 9% per annum,

respectively. The total annual income is Rs. 4,800.

P.T.O.
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4

The income from the third investment is Rs. 600
more than the income from second investment. Using
matrix algebra, determine the amount of each

(4)

investment.
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2. (a) A garment manufacturer is planning production of
new variety of shirts. It involves initially a fixed cost
of Rs 1.5 lacs and a variable cost of Rs 150 for
producing each shirt. If each shirt can be sold at

Rs. 350, then find
(i) The cost function
(ii) The revenue function
(iii) The profit function. (5)
(b) For the demand curve aQ+bP—-K =0, where a, b

and K are positive constants. Determine the point

elasticity of demand when marginal revenue is zero.

(5)
Or

(c) A publishing house finds that the cost of production
directly attributed to each book is Rs 30 and that the
fixed costs are Rs 15000. If each book can be sold

for Rs 45 then determine :-

(i) the cost function

569 i

(ii) the revenue function

(ii)) the profit function. (5)

(d) A firm has found from past experience that its profit
in terms of number of units x produced is given by

P(x) = —x3/3+729x-2500, 0d<xd<35. Compute
(i) The value of x that maximizes the profit.

(ii) The profit per unit of product when this

maximum level is attained. (5)

(3r) v Ru v wuer Pl wAw (WE) @ TR TS
FEd AR E A T @ B T LR A 15 W
T ) fftad 99 3R yEE T & IAET @ o
150 T & gRadSy AN WA 1 afe e e
F 350 ® ¥ I ww 2, @ A A FE -

(i) = wd (FC w)
(i) worm wE (Y BEE)

(i) Y wE (e wEE)
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P(x) = - x3/3 + 729 x - 2500, 0 < x < 35
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(i) x = 38 a9 N @ BN AfrEw T
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3. (a) A sum of money is put at compounded interest for
two years at 20% p.a. It would fetch Rs. 4,820 more,
if the interest was payable half yearly than if it was
payable yearly. Find the sum. 4

(b) A debt of Rs 5000 which is due 5 years from now
and Rs 5000 due 10 years from now is to be repaid
by a payment of Rs 2000 in 2 years, a payment of
Rs 4000 in 4 years and a final payment at the end
of 6 years. If the rate of interest is 7% compounded

annually, find the value of the final payment. (4)

Or

(¢) Find the effective rate equivalent to the nominal rate

6% converted i) monthly ii) quarterly. (4)

(d) A machine costing Rs. 50,000 depreciates at a
constant rate of 8%. What is the depreciation charge
for the 8" year? If the estimated useful life of the

machine is 10 years, determine its scrap value.

4)
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11
PART-B: Business Statistics

TRt fooma wfefeaw

(a) In a moderately asymmetrical distribution, the

mode and mean are 32.1 and 35.4 respectively.

Calculate the median.

(b) If two regression coefficient are 0.8 and 0.6, what

would be the coefficient of correlation.

(c) Briefly explain the different components of time-

series.

(d) Show that Fisher’s Ideal Index number satisfies

time reversal test.

(e) State any 2 mathematical properties of standard

deviation. (5%2=10)

(3r) T wneh fawr famwor F, agee (A9) K wew (@)
®A: 321 3R 35:4 7| Wiaw (W) H A0E
o
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(@) 3R @ wieme w08 3R 0.6 ¥, o wEGEH W
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T

5. (a) The prices of a commodity went up by 5%, 8% and
77% respectively in the last three years. The annual

~average rise in price is 26% and not 33%. Comment.
' 4)

(b) For two groups of observations, the following results

are available :

Group 1: £(X-5) = 8, Z(X-5) = 40, n, = 20

Group 2: £(X-8) = 10, £(X-8)2 = 70, n, = 25

Find mean and standard deviation of both groups

taken together. (6)

569 . 13
Or

(¢) Distinguish between a mathematical average and a

positional average. (4)

(d) Estimate mode of the following distribution using

empirical method:

Weekly 105-115 | 115-125 | 125-135 | 135-145 | 145-155
Wages of
Workers
(Rs.)

No. of 8 15 25 40 62
Workers

(6)

(3r) ﬁ@%ﬁwaﬁﬁ%ﬁm@aﬁaﬁﬂﬁfﬁm: 5%, 8%
dR 77% N Ffe g€ B e ¥ affew sitea afe
26% 2 T fF 33% Romdt =ik

(@) A wE @ frg Roh @y 3q Rl afom

IqeT B -
wE1: I(X-5) = 8, . E(X-5)% = 40, n: = 20
TE2: Z(X-8) = 10, E(X-8)° = 70, n. = 25

PLT Q.



569 14
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it
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St & a 8 5 | 5 20 )

105-115 | 115-125 | 125-135 | 135-145 | 145-155

| 6. (a) The following data relates to regression analysis

involving a sample of 6 items:

ZX =18, LY = 216, ZX?= 70, ZY? = 8332,

ZXY = 738.

Obtain two regression coefficients. 4)

569

15

(b) A computer while calculating the correlation
coefficient between two variables X and Y from
25 pairs of observations obtained the following

results:

N = 25, £X = 125, £Y = 100, ZX? = 650, rY? =
460, XY = 508

It was how‘ever discovered at the time of checking
that two pairs of observations were n;)t correctly
copied. Their were taken as (6,14) and (8,6) while
the correct values were (8,12) and (6,8). Prove
that the correct value of the correlation coefficient

should be 2/3. . (6)

Or

(c) Find out the regression coefficients of Y on X, X
on Y and correlation coefficient between X and Y

on the basis of the following data:

EXY
of X

350, £X = 50, LY = 60, n = 10, Variance
4, and Variance of Y = 9 (4)

P.T.O-.
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(d) The following results were worked out from

16

scores in statistics and mathematics in a certain

examination:

Scores in Statistics | Scores in Mathematics
(X), (Y)
Mean 39.5 47.5
Standard Deviation 10.8 17.8
Find out both regression equations. (6)

(3r) FefaRaa o1 wiome o ¥ wafm 2 fad 6

HECH F UF WA W B

IX = 18, ZY = 216, ZX? = 70, £Y? = 8332,
XY = 738.

q gfewmE e we SR

TR HX T A W (AR) T 3R A A wwway
AU N A TS G AT D 25 S A A
fr=foRan aftom wer fg 2

N = 25, ZX = 125, 2Y = 100, £X? = 650, ZY? =
460, ZXY = 508

569
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R (8, 6) B w0 ¥ forn T on, SE{H IHT FE AT
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F @ W 2/3 B AR

.=
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XY = 350, X = 50, ZY = 60, n = 10,

X @ A= = 4, 3R Y # A= = 9

Fordht e ¥ R o o @ i 3 Y P
gftorer e T A

AR A @R | T A @R (Y) |

X
e 5 475 ‘
Wﬁﬂﬁ:{ 10.8 17.8 I

2 Wl SRR T UET SR
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7. (a) Construct Consumer Price Index for the year 2021

with 2011 as the base year.

Item Expt(m/d)iture Value Index: 2011 | Value Index: zozl(lﬂ
o, o I b

Food 35 gs{g 174

Rent 15 50 60

Clothing 20 100 125

Fuel & Power 10 20 25

Miscellaneous 20 60 90)

4)

(b) From the following data, construct Price Index
Number by Fisher’s method.

Items Base Year Currént Year
Price (Rs.) | Quantity | Expenditure (Rs.) | Quantity (Kg.)
A 25 40 2000 50
B 22 18 1200 30
C 54 16 1320 44
D 20 40 1350 45"
E 18 30 4 630 15
(6)
Or

(c) What is base year in 'the context of the construction

of an index number? How is it selected in practice?

4)

19

(d) An enquiry into the budgets of the middle

class families of a certain city revealed that on an
average the percentage expenses on the different

groups were:

Food 45, Rent 15, Clothing 12, Fuel 8,
Miscellaneous 20. The group index number for
the current year as compared with a fixed base
period were respectively 410, 150, 343, 248, and
285. Calculate the Cost of Living Index Number
for the current year. Mr. Vijay was getting Rs.
2400 in the
Rs. 4300 in the current year. State how much he

base period and

ought to have received as extra allowance to

maintain his former standard of living. (6)

(3r) =€ 2021 ® fore Iuvirar ea G v P i,

e ad 201 IR T @ T ¥ AeE B

e T (%) | e GEBID: 2011 (Io) | T GBID: 2021(1)
e uenf 35 150 174
e > 50 60
e 20 100 125
e IR el 10 20 25
fofiss " 20 60 90
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(@) Frafafea sres @, o = fifr a0 g g

20

e w1 T S

SMIgeH SR g4 Ay
A 25 40 2000 30
B 22 18 1200 30
¢ 54 16 1320 P
D 20 40 1350 a5
E 18 30 630 B
a1

(W) v& goais gem & Fe @ gef ¥ suR 9§ =40

27 T AR ¥ A T W 27

& = & ey oRal & awe & s A
Wm%ﬁ;ﬁ%“ﬁwmmaﬂmm

qr.
@ 45, fFma 15, #9212, $uF 8, fafdw 20,

v fftam safer it o A W af @ fr e

TIAFH G HAA: 410, 150, 343, 248 IR 285 A
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e o @ e Rl guee e A A @)
‘aﬁﬁmaﬁmmﬁri‘fmoomaﬂtmaﬁﬁ
4300 TR et @ N1 TE TR R IR I TS A
S T R T @ B e gRRE W F
¥ foreen v B =fRY em

(a) Computé 4-yearly moving average values for the

following data :

Year Values Year Values
2010 24 2016 08
2011 28 2017 94
2012 34 2018 112
2013 42 2019 132
2014 52 2020 154
2015 64 2021 178

(4)

(b) Fit a straight line trend by method of least square by

the following data. Assuming that same rate of change
continues, what would be the predicted earnings for

the year 2025?

PO
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Year 2014 | 2015 20-}6' 2017 [ 2018 | 2019 | 2020 | 2021

Earnings 38 40 65 72 69 60 87 95
(Rs.)

(6)
Or

(c) What is time series? Explain how analysis of

time series is useful to businessmen and

Industrialists. 1 (4)

(d) Fit a straight line trend by the method of least

square taking 2015 as origin, and eliminate the

sales for the year 2023.

Year 2014 | 2015 | 2016 | 2017 2018 2019
Sales (in Crores of | 24 26 28 30 44 32
Rs.)

(6)

() T 3a1 & forw 4 -anfter faemr sitea = &6t wom
Hiford ;

569
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23

¥ e a¥ A
2010 24 2016 98
2011 28 2017 94
2012 34 2018 112
2013 42 2019 132
2014 52 2020 159
2015 64 2021 178

et Yo7 B W ¥ a0 A R gR v @ e
ﬁ%ﬁtﬁ.ﬁﬂﬁ%@%qﬁaﬁaaﬁmﬂwﬂ

.-%,3&2025%%‘23@?@33"““%?

2014

2015

2016

2017

2018 \ 2019

2020

2021

Ll
M (%)

38

40

65

72

R7

6 ‘ 60

95

T

ma{ﬁﬁmi?mﬁ?wwﬂﬁﬁw
et s SdnmRE & fre e wER STER A

2

a§ 2015 aﬁ'ﬁaémﬁﬁ%aﬁaﬂ%maﬁaﬁ
Rt & v @R Y < v A e AR o T
2023 & P e = gar A
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e 2014 | 3015 | 2016 | 2017 | 2018 | 2019
ot @dsewdd) | 24 | 26 | 28 | 30 | 44 52
e

(100)
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Al & forw Adw

1

T4 W-99 & fem & o Ry o FuiRe wW @ seen
I fafEn |

T U T WO aR AR WA @ 5 A FIE ks
famreg =& 21

st v @ 3w e B

W WIH-9F & I Fdon a1 BE FE v wmwr F AfSw,
AT o I w1 WeAw vE B B =Ry |

(a) HRM involves all management decisions and
practices that directly affect or influence the people
who work for the organisation. In the llight of this
statement, explain the nature and functions of

HRM. )

1113 3

(b) What is Voluntary Requirement Scheme? Why

organisation offer VRS to its employees? 9

(%) voswed ¥ § ¥t yeae fvia 3k wag wfve F S
Wed @ fog wW F 9w @ ®@ A R
T B A gNIEAE wed B @ OHOH &
I A TIANGH W WP vE wE @ e
EiE ]

(@) wfes Jafafa dAw w0 37 wea Jo Sl
1 AReE T A B7

OR

(c) What are the qualities required for a successful

HR Manager? %)
1 R
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(d) What do you mean by Placement? Distinguish

between Placement and Induction. 9)

(1) T Whe A WA YOS @ e g s
#?

(9) e ¥ 0 T S F 7 e I I & A

(a) Describe the process of HR Planning bringing out

clearly its quantitative and qualitative aspects.

9)

(b) “Job Analysis is the most basic personnel
management function.” Comment. How job
- analysis is different from job specification and job

description? )

1113 5

(%) A a Ao @ AR o i I D
A AN S TEgA B W W ¥ W

U]

(@) ‘mﬁﬁ:ﬁwmgﬁu@wﬁmwﬁmmﬁ%rm
e FE Ao w@ AfREs ik w@ e @ e
mﬁaé?

OR

(c) Describe various types of interviews used in

selection of employees.

€))
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(d) Differentiate between training and development.

Discuss off-the- job methods of training.

)

() oA & w9 ¥ I fae 9= e At wew
W WEHR W 9o EHiTg

(a) wirewr sk fREm & 9w Fw A e @
F-Had i@ W 9 Bl

3. (a) Define career planning. Discuss the role of

employee and management in career planning.

©)

(b) Differentiate between performance appraisal and
job evaluation. Discuss any two modern methods

of performance appraisal. 9)

1113 7

(%) =@ftrw Faee =t wRwfte #ite FRR Faee
¥ w0 AR wEE @t qfE W) ol i

(@) wedle Aeaied IR F qeAET & ad AR Ao
yeue A @t Rl @ g Rt @t ==
FiroTg |

OR

(c¢) Discuss 360-de'gree Feedback Performance

Appraisal Technique. 9)

(d) What are different methods of identifying training
needs? Discuss in detail the steps  followed to

design an effective training program? 9)
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() 360-FRA Wedw Wedw HewEH dEAE WG
it

(a) vt SEwEEA A TEAE S A 0 w2
27 vyl Wi FEw AR e & e se
W FeR W R ¥ W= Aife?

4. (a) What is employee counselling? Why is it required
in an organisation? Briefly explain various methods
of counselling used in an organisation to deal with

problems of employees. 9

(b) Discuss in brief the concept of HRIS and its

functions. 9

1113 9

() = wSafer T 87 @ deT i Tl sraEEa
T 37 ot wew X FRAl @t TR @ R
% fog Iwam &t 9= Tl v @t Rt Rty @
8T ¥ qUA S

(@) TUARAETE F FTURI AR @R A W N A ==
il

OR

(¢) Define social security and explain its significance

in the context of Indian environment. (9)

(d) What are the challenges before Human Resource

Management in current times? Discuss. 9)
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(1) i geen @ uRiE e i wRaE aRes @
W ¥ ZH® Weed @ e Sifeigl

(=) A TG A WG WS YEUE B e F gAtaal
&7 Wi e

5. . (a) Read the case study carefully and attempt both

the questions.

Samsui Company is an engineering company with
employee strength of 1,000. The company has a
system of incentive linked monthly productivity
bonus for rewarding good work of the shop floor
employees. The HR director, Mr. Inderjit has been
facing a dilemma, how to evaluate the performance

of the middle management and how to link it with

productivity. After deliberate discussions with

1113

11

individual managers, he designed a new incentive
plan to enhance team work and excellence among

middle level managers.

The pay will be split into two components. The
first part consists of 80% of original salary. It will
be a fixed component and will be determined as
before. The second component of 20% will be
flexible and will depend upon the ability of each
team to show minimum of 5% improvement in their
respective areas. The scheme when discussed with
managers, received several negative remarks as
their individual incentive will depend upon the

performance of other members of the team.

P10
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Now Mr, Inderjit is in a tight position. The
Company has been the trend setter in executive
compensation in Indian industry as they have been

paying the best.

(1) Do you think it is proper to evaluate manager
based on productivity? In your opinion,
individual performance or team performance
is the most suitable criteria for incentive

plans?

(1) If you were the HR director, what would you

do? (45x2=09)

(b) Write short notes on any two from the following-

(4.5 X 2 = 9)

1113 13

(i) HR Audit

(i) Workforce Diversity

(i) E-HRM

(iv) Grievance Handling Procedure

(F) 29 =& =N am a R AR AR ww wy
I 2

1&@faﬁﬁTpmJmﬁmﬁﬁaﬂ?wasﬁEMﬁﬂaﬁ#
mwﬁéhmwhwhﬁaﬁmﬁ%aémn
Rl AR b S R ——
#mﬂwam@mmmﬁmnﬁMaﬁﬁﬁa

P.T.O.
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1 v IR W W w02 @ R e v
& el W eiHT h A WY S T Iearesan
¥ I W WY A vEuEn @ ay - G
FA D AE, I WA W R YU B 9 W a8
R I W qeW B g v 7€ W A
waR F

I F A wew ¥ i e s wed wwr ¥
@ a59 W 80% Wi Bl 98 vw fAftaw w@ew #am
#R Tt A e & FeiRa fovar smom 20% w1 @
HeE A B SR W W S gate aa
¥ =W 5% uR fEm &t awar w Ak wam =
S W TE FEUE @ Gy wd T @ wE
e Rl Fiel i S s e
& I weEl B wedw W AR wam
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s N Feola ARwa Rafy & 2 o weim sam
# FEEN qAE ¥ 3T A W 2 A 3 T s
W oK @ B

(i) = s wan 2 fF SaEEa & dER W
YEUE N Aedich Bl S| 27 e 0 ¥,
T YEIH A1 T WEEA Wedre ASHIs @
forg wed Iugam WeEE 27

(i) @R sv ¥+7E dauw Fews 8, @ s
FA7

(@) F=fafaa & @ el @ w aferm fewfomr
forfer -

(1) vasm sifte

(ii) wdae R
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o @ fog & Z 10 each fully paid on Ist June Nomm% On Ist

April, 2022, the Company decided to convert the

1 = uE-uE @ e # e g g FuiRe s W s : : : :
; partly paid equity shares into fully paid shares by

SFFHIF fafag | : ‘

way of bonus and to issue fully paid-up Bonus
2. &l W A E BN P Shares to the holders of fully paid up shares in
3 W e IUANT SR @ Il 2 the same ratio. Calculate the amount of Bonus.

(2+2+2=6)
4 At Aew @ e SR o fEr w2
AATMA Ltd. decides to redeem 2600, 15% Pref.

Shares of T 100 each at 10% premium. It has a

& Wl @ SR Gierd B iRy |

6. TH T - UF F I st ar 6t et e s & Aot e General reserve of °4,62,000 , Securities Premium
Tt IE & AT U B B 9 | 0f ¥ 4,000 and Investments [Face value ¥ 4,00,000]
of T 8,00,000. 40% of Investments are sold at

150% .If the new equity shares are to be issued

at 25% premium and minimum General reserve of

1. (a) On 31st March, 2022, the paid up capital of OM
Ltd. is T 36.00,000 consisting of 2,40,000 Equity
Shares of ¥ 10, each fully paid up and 1,60,000

Z2.00,000 is to be kept. Calculate the minimum
number of Equity shares of T 10 each to be issued
Equity Shares of T 10 each, ¥ 7.50 per share paid for the purpose of redemption and the amount
required to be transferred to Capital Redemption

Reserve Account. (3+3=6)

up. It has ¥ 2,40,000 in Securities Premium
Account. T 2,00,000 in Profit and Loss Account
(Cr.), T 4,00,000 in General Reserve and
£5,20,000 in Capital Redemption Reserve
Account. It has T 24,00,000, 12% Partly
Convertible Debentures of ¥ 100 each (20% of

(¢) On 1.4.2018 PARMATMA Ltd grants 100 options
to each of its 2100 employees at T 240 when the
Market price is ¥ 360. The <om_::m date is 31st

March, 2020 and the exercise date is 31st March,
Debentures are convertible into equity shares of

21,
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2022. At the end of year 1, the company found ”.,. ﬂi:mrowm Account
that 100 employees had left. At the end of year 2, ...J_ Bibital Redemption Reserve

!
the company found that 80 employees had left. At B i Fosere

the end of year 3, the company found that 192
Debenture Redemption Reserve

employees had left. Only 1700 employees exercised

their options on 31st March, 2022. The face value R tentures (of X 400 each)

of equity share is ¥ 10 per share. Compute General Investments [Face Value ¥ 800 lakh]
Expenses to be recognised in each year by Fair Investments in 1,32,000 Own Debentures

Value Method and the Value of Options .Uoguncﬂm Redemption Reserve Investments [Face Value
Forfeited.(Assume that the Market price per share i ¥ 60 lakh]

is 360 at 31st March of each year). Cash at Bank

(2+2+2+2=8)

On 1st April, 2022, the nonwﬁmnw decided:

OR ALTERNATIVE QUESTION . (a) To buy back 8 lakh equity shares at ¥ 50. For
) . this purpose, 40% of General Investments were

J realized at market price which was 125% of the
AMLA GILOY & TULSI Ltd provides you the .

face value.
following relevant information as at 31st March, 2022 :

(b) To redeem the Pref. shares at a premium of 10%.

Particulars (% inlakh)
10% Redeemable Pref. shares of ¥ 10 mmo_.._ fully paid up 400 (¢) To cancel Investments in Own Debentures and to
. ; : redeem the Debentures at a premium of 5%.
s s ey = Debenture Redemption Reserve Investments:
Securities Premium 520 _ . realized 20% more than face value. Later on the
General Reserve 680 company issued three fully paid up Equity Shares

P. 1.0,
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of T 10 each by way of bonus shares for every (W) s ffee 2100 & 2600, 15% ATHER AT w1 10%
fiftew W A i A #) gEE | T4,62,000
=1 EEE §, 4,000 ST w3l 8,00,000
=7 fraw (3 I T 4,00,000) Wi 1 FHEw ==

Seoﬁaoxﬂwﬂ_ﬂﬂw_ﬂwﬂwmm%w&

7 five equity shares held.The company desired to

have minimum reduction in free r

Required: Pass the necessary Journal Entries
relating to part (a), (b), (¢) and bonus shares.

(4+4+8+4=20)

(=) mﬂ.ﬂm_i.»awm&.%ﬂ%%mﬁ@
* 23600000 1 2 R T F AEE T

240,000 3REA FW ¥ 3R T 10 TAF & 1,60,000
frdt a1 7.50 W I S Y fer T
| zaa wiasfy @few @@ | T 2,40,000, TN 3
afr @@ X T 2,00000 (FF), WA ARG ¥
24,00,000 3 N Fdre ferd @@ A X 5,20,000
¥ ¥ A T 24,00,000, 12% Fiten ¥ A AR
¥R 7100 WAF (20% B¥R 1 GF 2022 W W
wE A A Y T A 10 T & Ed
¥ oRada #) R 1 anie, 2022 i, HIALA
%ﬂﬁwwﬁi@aﬁmﬂ&%&%%ﬂ%
aﬂaw%ﬂmwmﬂmﬂ@aﬂw&&mﬁw%
v G AT W I wE A W g T IR @
gﬁw%ﬁﬁﬂ@aﬁ@ﬂwﬁﬂ&mﬂwﬂmﬁ
R 31 A @ AR A TR H

1 25% e = S0 B s 2 3 2,00,000 TR
1 G A sRfe d=g @ W R, o e
2 35 A T Y T A TR 10 T @ R
FR A =W wen ARk TR A Rod ¥
iR D T g sravaE fdn @ o it

R 142018 F OIS f JUT 2100 FHARA |
A vAF FY 240 TR W 100 F e wew w2
& W aed 360 wA 21 R ffr 31w, 2020
2 3R snaw AR 31 W, 2022 ?1 U A F W
w.ﬂa&wwﬁﬁ@soiﬂ@ﬂ@ﬁ_&m&%ﬁ
¥, go wATA TA MY AT AW B I ¥, 192 FHHAR
sk T g A RBAiw 31 A, 2022 F HER X DA
1700 FHRA ¥ I el w v fFan sfEd
wﬂﬁ%ﬂﬂfouﬂ&ﬁ?iﬂimu@m
j@aﬂﬂ%ﬂﬂmﬂ&%ﬂ@g%w&ﬂw
T S (A ha e T ¥
faiE 31 A9 W AR WR TR T 360 T B))

P.T.0.
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oI Aefods wIA

e TAY U e oL Ry 31 W, 2022 T et

qEfE FEE WS e #

g (%. @)
10% faer=e A a T 497 2 10 werE o O 400
ﬂm&mﬂn@ﬂgﬂg T T 77 7 72T 1200
st fife 520
e T 680
ATH AT FI AT 240
A5t fawrae e 80
T TR o 2000
v fgvrem fed 102
12% 9T (TAF 2400 1) 332
qraTT e (s q#T 800 @19) © 1600
1,32,000 &% ¥ RE= # fAaer 20
A= v fesd R (sifFa 979 60 7)) 80
EER R 1200
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_ wm_ﬁ#gwm‘ Mcnnmw.ﬂiw?mﬂ@a“. ;

n
|

1

|

+

() e @@ R 0% F R w e ok

o

..._-._i_;
|
Al

T A IR :
Sl Hﬂjzﬂil{g?aﬁﬂ»ag@aﬂ

(%) & wra A I F T 50 W AW @ F Fofa
foran za IBwa & fog, wwma AW &1 40% TSR 1A
- woagd fn S osfR AE w125% A

fovar avan

Al B0 o @ e o ) s Bk e
W) el (e ok wderiten = s e &
200 siftres et fo arn w A wE ¥ wRa wdw
i il Bl @ forg dem Il B v A 210 R
o @ ot oy s I S e w R S e
I e T DY

e v (&), (@), (1) 3R 9w I ¥ FERE e
s wfaftear @i

. The following are the extracts of the Trial Balance of

ALOE VERA & WHITE PETHA LTD. as at 3l1st
March, 2022":
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" Particulars ! *. (T in lakh)
Revenue from Operations 1920
15 lakh,10% Tata Steel Debentures of ¥ 100 each, ¥ ma_umaﬁ up 1200
Net Loss on Sale of Investments 56
Rent raceived 60
Expenses other than Interest (including Rent Collection Expenses T 4 lakh) 348
160 lakh Equity Shares of ¥ 10 each fully paid up 1600
40 lakh Equity Shares of ¥ 10 each, T 7.50 paid up 300
16 lakh 10% Pref. Shares of ¥ 100 each fully paid up . 1600
129%, 8,00,000 Debentures of T 100 each fully paid up (issued on 01 bm.mcmov 800
General Reserve (as at 01.04.2021) 60
P & L A/c (Dr.)(as at 01.04.2021) 4
Employees Stock Option Outstanding A/c 40
Debenture Redemption Reserve BO

As on 01.04.2021, Dividends on Preference Shares
were in arrears for 2 years for 2019-2020 and 2020-
2021.0n 31.03.2022, dividends (including Equity
Dividend @ 20%) were paid for which no accounting

effect has yet been given. The recommendations of

the company’s Board of Directors include transfer to
General Reserve @ 5% and minimum required
transfer to Debenture Redemption Reserve as per The

Companies Act, 2013. Assume Corporate Tax 25%.

81 11

. Required: Calculate Profit for the period and Basic
 Barnings per Equity Share as per Statement of Profit
- and Loss for the year ended 31st March, 2022 and

also Show the calculation of Reserves and Surplus.
Qi (7+4+4=15)

21) OR ALTERNATIVE QUESTION

_ " (a) Define Financial Statements as per The Companies
A ct, 2013, 2)

_ (b) Write only one basic difference between each

of the following : (1x4=4)
(i) Interim Dividend and Final Dividend

(i) Quoted Investments and Unquoted

i1, Investments

Ry (iii) Reserve and Reserve Fund

(iv) Book Building and Reverse Book Building

. (c) Define an Operating Cycle and Participating
Preference Shares. (1+1=2)

(d) An item of income or expenditure is to be
disclosed separately in the Financial Statements
as per The Companies Act, 2013 if its amount
exceeds 1% of the revenue from operations oOr
% 10,00,000, whichever is higher. Comment. (1)

PR,
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(e) Under The Companies Act, 2013 “Free Reserves”
do not include Securities Premium Account,
Comment. : (1)

(f) Financial Statements of every company include

Cash Flow Statement as per The Companies Act,
2013. Comment. (1)

(g) The figures appearing in the Financial Statements
as per The Companies Act, 2013 may be rounded
off to the nearest crores only if Turnover is more
than ¥ 100 crore. Comment. (1)

(h) BHARAT TUSHAR Ltd. provides you the
following information :

- Raw material stock holding period: 4 months, Work-
in-progress holding period: 2 months, Finished
goods holding period: 3 months, Debtors collection
period: 5 months

You are required to compute the operating cycle
and State with reason whether the following should
be disclosed as Current Assets or Non-Current
Assets or Current Liabilities or Non-Current
Liabilities in the Balance Sheet as at 31st March,
2022 as per Schedule III: °

(1) W, a customer whose expected realisation
date is 30th April, 2023.

13

i i
&

date is 30th June, 2023.

(i) X, a customer whose expected realisation

Mt (iii) Y, a supplier whose expected payment date

is 30th April, 2023.

- (iv) Z, a supplier whose expected payment date
is 30th June, 2023. [1+(4x0.5)=3]

R

| feim 31 9, 2022 F TN s R Yo ffids @ wewe

i Afer e Bt 2

IECER S

(%, 9149)

__.__ ATH ST TTore

1920

108, 10% Zrer e BFET 2100 99F, 280 qHFAT

1200

q.wf Awﬂlﬂnﬂm%ﬂmiﬂ

56

60

- W sreTaT s s (PR drew s g @ 4 A

810 ¥ 160w =t o T AvE
__

8 10 o % 40w S 9T, ® 7,50 T AT e

. LG e 100 FEEET 99T 2 100 WeE & OO FwaT

19294, 8,000,000 ¥ 100 % e Tff avg & g
101,04, 2020 F A7)

wyrer s (01.04.2021 F FET)

o i mmET (23 (01.04.2021 F AT

wtw BT T 'mET
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e 01.04.2021 Y, 7§ 2019 -2020 3 T 2020-2021 @
31032022 &I, @wWw (S wnww / 20% GRE) @i

AW &R fear wan an, o anft o g ST T8 faa
T B w & e Wew # RwRe ¥ we s,

AT AEIAE BT WA foRar w21 25% & Fiane
29 W At

Hie: R 31 9, 2022 ® W 99 @ e W sk wf
% e & 3gER ad @ SRk @ ik wfy el dwe
I FE w0 FHiA dR Red va st @ aoer o)
e Sk

a1 Awfeus wue

(%) =o= sifefaa, mo_m%ﬂmmnmﬁﬂgmw%m:
o1

(@) fefofes ¥ ¥ vds & 99 F90 & 990 o
fofa -

(i) siafn T sk sif i

(ii) uﬂmﬂwﬂ%%-aﬂmmﬁ.

fore at@en et de w annw 2wt @ @ on e

2013 & FFER a9 ol /5% IR R v fad o

15
(i) R o R we
(iv) =% fafesm sk Red o= ffeen

(W) v v (SRRT) T SRR S 9 S 3
- @ ufoenfie @i

_v _mﬂﬁﬂu%iﬁﬂgﬂ.ﬂﬂﬂe@@ﬁ‘ 2013
. % TR i o ¥ s - sem i s 2 R
T U v @ W aeRa @ 1% 4T 10,00,000
 ww, S s A, R

(%) @ sfafEw, 2003 @ TR “HEw Guar (W Red)

¥ il e wen (ReaRds e sese) =t

e =8 @ 21 ol $itE)

(W) R s, 203 @ SER TRE wER @ R

faaot ¥ ww v Rede whe 21 o iR

. .
() = A, 2013 ® sER B Rl ¥ vl

P A i P wdE F A it R

. 0 9% ® WE oS 100 T A ¥ At BN
e SRR
i ] )
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(1) ﬁﬁmamw_mwmwﬂﬂ@@mﬂﬂﬂﬂgﬂdmwa

i.ﬁ&%%ﬂﬁ@;ﬁ,%|ﬂ%&
sy 2 WE, FaR A @A F et 3 WE, AR

TuE Fdfe: 5 HE|

Y TR 9@ @ TR R @ e W S
3 sk Fwr @ A W SRR fE e e 1w
Figar feien 31 W, 2022 1 dog die A Ffafaa
iﬂﬂ%ﬁ%ﬂ@%ﬁ%ﬂwﬁ%&ﬁ
- FERA @ A wehe R S =fRT -

6) mﬁﬁ&aﬂ@a@m@wﬂwﬂ@%%
fafy 30 30, 2023 Bl

(ii) o, v e Sl age Y W s
fafr 30 9=, 2023 #

(iid) o, T e o e e S
fafr a0 3o, 2023 2

(iv) @wkﬁ%@m&%ﬂﬂﬁw%%
fafr 30 5, 2023 2

3 From the following extracts of the Balance Sheets of
GINGER Ltd., Calculate Net Cash Inflow from
Operating Activities after Tax to be disclosed in the

681 17

Cash Flow Statement as per AS-3 issued by ICAL

Particulars 31.03.2022 | 31.03.2021
T 4
Equity Share Capital of 2 10 each 40,00,000| 24,00,000
5% Preference Share Capital of ¥ 100 each 8,00,000 16,00,000
General Reserve 5,60,000| 17,60,000
Profit and Loss Alc mm.om.ooo (52,000)
Securities Premium 1,80,000 80,000
Capital Redemption Reserve 2,00,000 6,00,000
Employees Stock Option QOutstanding Alc 3,40,000 2,00,000
14% Debentures 10,40,000 6,00,000
Short-term Borrowings (14% Bank Loan) 1,60,000 2,00,000
Trade Payables 6,60,000 1,60,000
Provision for Tax 1,60,000 80,000
Tangible Fixed Assets 66,00,000| 52,80,000
Accumulated Depreciation (15,20,000) (12,00,000)
Intangible Assets _moo%____. 84,000 40,000
10% Current Investments 8,80,000 3,20,000
8% Fixed Deposit (Date of FD 1st Mar.,2022 maturing 11,36,000 -
on 31st May,2022)

Cash at Bank 4,00,000 4,00,000
Inventories 6,76,000 2,16,000
Trade Receivables . 24,52,000| 25,72,000

P.T.O.
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Additional Information :

(a) Dividends (including an Interim Dividend @ 35%)

(b)

(c)

(d)

(e)

were paid on Ist April, 2021.

During the year a machine (having accumulated
Depreciation) was sold for ¥ 2,00,000 at a loss of
37.5%. A fully depreciated machine was also
discarded. Machinery costing ¥ 17,60,000 was
purchased for cash.

On 1Ist Jan., 2022, Some Current Investments
costing I 8,00,000 were purchased and Some
Current Investments were sold at a profit of 20%
on sale. New Debentures were issued and Bank

Loan was repaid on the same date.

On 1st May, 2021, new Equity Shares of Z 10
each were issued at a premium of 10% and

Preference Shares were redeemed at a premium
of 5%. ;

On 01.01.2022, the Business of Y Ltd. was
purchased for ¥ 2,40,000 payable in fully paid
equity shares of ¥ 10 each at 20% premium. The
assets included Inventories ¥ 60,000. Trade
Receivables ¥ 40,000 and Machine ¥ 1,20,000.
Trade Payables of ¥ 60,000 were m._mo taken over.

681 19

(f) Tax provided during the year was T 1,20,000. Being
a prudent accountant, ensure minimum reduction

in free reserves. (10)
OR ALTERNATIVE QUESTION

(a) From the following extracts of the Balance Sheets
of KACHCHI HALDI Ltd., Calculate Cash Flow
from Investing Activities and Financing Activities
to be disclosed in the Cash Flow Statement as per
AS-3 issued by ICAL

Particulars 31.03.2022 | 31,03.2021
: z ?
Equity Share Capital of ¥ 10 each 40,00,000| 24,00,000
5% Preference Share Capital of ¥ 100 each 8,00,000 16,00,000
General Reserve 5,60,000 17,60,000
Profit and Loss Alc 26,08,000 (52,000)
Securities Premium 1,80,000 80,000
Capital Redemption Reserve 2,00,000 6,00,000
Employees Stock Option Outstanding A/c u_ac.oco 2,00,000
14% Debentures 10,40,000 6,00,000
Short-term Borrowings (14% Bank Loan) 1,60,000 2,00,000

210,




681 20

Trade Payables 6,60,000 1,60,000
Unclaimed Dividend on Equity Shares 80,000 =
Outstanding Interest on Debentures 40,000 -
Outstanding Underwriting Commission 20,000

Provision for Tax 1,60,000 80,000

Tangible Fixed ymmm”w 66,00,000 52,80,000

Accumulated Depreciation :m..mo._...._.oov (12,00,000)

Intangible Assets [Goodwill] 84,000 40,000

10% Current Investments 8.80,000 3,20,000

Interest Accrued on Current Investments 8,000

8% Fixed Deposit (Date of FD 1st Mar., 2022 11,36,000 -

maturing on 31st May,2022)

Cash at Bank 5,32,000 4,00,000

Inventories 6,76,000 2,16,000

Trade Receivables 24,52,000 mm_qmbﬂ

Additional Information :

(i) Dividends (including an Interim Dividend

@ 35%) were paid on Ist April, 2021.

(i) During the year a machine (having

accumulated Depreciation) was sold for
¥ 2,00,000 at a loss of 37.5%. A fully
depreciated machine was also discarded.
Machinery costing ¥ 17,60,000 was
purchased for cash.

681

(1ii)

(iv)

(v)

(vi)

21

On 1st Jan., 2022, Some Current
Investments costing ¥ 8,00,000 were
purchased and Some Current Investments
were sold at a profit of 20% on sale. New
Debentures were issued and Bank Loan

‘was repaid on the same date.

On Ist May, 2021, new Equity Shares of
T 10 each were issued at a premium of
10% and Preference Shares were redeemed
at a premium of 5%.

On 01.01.2022, the Business of Y Ltd. was
purchased for X 2,40,000 payable in fully
paid equity shares of ¥ 10 each at 20%
premium. The assets included Inventories
% 60,000. Trade Receivables 2 40,000 and
Machine ¥ 1,20,000. Trade Payables of
60,000 were also taken over.

Tax provided during the year was
<1,29,000 (Including tax @ 15% on short-
term capital gain on Investments). Being a
prudent accountant, ensure minimum
reduction in free reserves. (9)

(b} If in the above Question 3(a) Net Cash Flow from
Operating Activities before Tax is ¥ 36,40,000,
then calculate Net Cash Flow from Operating
Activities after Tax. (1)

PO,
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.@ﬂ%@%m@f%ﬂ%ﬂﬁ@@_ﬂwﬂiw,%ﬁ o Amfouss we=
T OGN UEE -3 F HFER AW Tl WA A HAUH @ |
A aRae TREAREA ¥ e A waw & e S (%) reh el Sfics - qeer—ol - Pt oy
: | AT B WG UUE-3 B FFER AHT WaE
Eciad 31.03.2022 | 31.03.2021 e A wwe fFr W A R FEEa 3k
=T 39T Ol A 2 10 40, 00,000 24,00,000 : AT FFAT A AFE yaE @ o m...u_.ﬂﬂ.w_
5% Ffiar o7 Joft 9 T 100 8,00,000| 18,00,000
s e 5,60,000 17,860,000 IECEal 31.03.2022 31.03.2021
e ! 26,08, 000 (52, 000) , ,
e T o = e fSf v 2 10 40,00, 000 24,00,000
o P Frord : FIRBETAY poey— 5% Fdtaar drav oft gegw T 100 8,00,000 16,00,000
T et et SerT T 3,40, 000 2,00, 000 s o 5,60,000 17,60,000
14% @z (RE¥=w) 10,40, 000 6,00,000 =T 37 g =T 26,08,000 (52,000)
FeTHTE T (14% F3 w7 1,60,000|  2,00,000 il fifier 1,80,000 80, 000
=TI EETE 6; 60,000 1,60,000 IS B = 2,00,000 6,00,000
T 3 fore, s b A ik T w=i fre A A 3,140,000 2,00,000|
o s whagfaat 66,00,000| 52,80,000
14% =iz (RE=y) 10,40, 000 6,00,000
T gergeTE (15,20,000) | (12,00,000)
e : o Ty AETHITF 39T (14% 5% =) 1,60,000 2,00,000
7yl o N %58, 365 =TT FeaTtt 6,60,000 1,60,000
8% amafir s (modt 1 By 1w, 20225 31w, | 11,36, 000 T ot e s e 80,000
2022 Frafp ST of &) fesre g7 T S . 40,000 -
& H AFET 4,00,000 4,00,000
7 7 gy . 6,76, 000 wLm.ooo ki i v
%ﬂﬂ 24,52,000| 25,72,000 :ikih A bl e %
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it et Rt

24

T geagoTw

s HfEr (=)

84,000 40,000

10% gdamH Fae

e FEer a7 et sarer

2

8% mrafer s (st i ffarl a, 2022 11,36
o7 31 /E, 2022

CER-E L)

e ey

T ar=r

FfaRea e :

(i)

(ii)

famrer 1 e, 2021 & W (35% # W A
FaRe aE A@fed) & WEE & fear mr #)

af & I vF A (SR AeaEE) 37.5% @t
B W T 2,00000 ¥ AN T M 9@ wE A
AeEed v wEe o S e fRar wr B SEe
T 17,60,000 ANH F AL HHAQ Awe A
@R T B

fare 1 =E®, 2022 A, T 8,00,000 I AN
T o Ao AT @R W AR w5 A
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(v)

(vi)

25

e 20% @ W o= 23 W B Ay Rew e
fag T ¥ IR I AE W w w=O g
fear amam

iv) farE 192, 2021 #, ¥=@® 10 ® AU s

IR 10% Hem w 7@ fFe W T R
I H 5% WMEEH W R @ A

ferE 01012022 #, 9 ffice & =@am ==t
% 2,40,000 ¥ @de forar wm@m a1, S 20% Wifwew
W0 D T EE 9 e I ¥ ™
on qftgafer ¥ 2 60,000 &t T Wi
aqRer Witqdt T 40,000 3R FHMAT T1,20,000
U9 60,000 T4 H AER g o fold 1A

af & I Fouw & fw T 1,29,000 F
wraue fEan mar o (e ® seqefors gome
N W 15% FH GfEd)) g fFEwr aEen
B & AW, T W9 A A A d gEread
wiforn

(@) aft Ida ue 3 (F) ¥ o ¥ uBe uRare afafafe
¥ Y@ THA TAE 36,40,000 T B, W W B @
Raem e & e 9FE waw #@ e w1

PO,
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4. (a) Given below are the extracts from the Balance (a) 50% of Tangible Fixed Assets are taken over
Sheet of SHEENA Ltd. as at 31st March, 2022 : at 100% more than the book value and the
m ~ remaining Tangible Fixed Assets are taken
Particulars < over at 20% less than the book value.
Equity Share Capital of ¥ 10 each 8,00,000
. : 3 (b) Goodwill of SHEENA Ltd. is to be valued at
8% Pref. Share Capital of ¥ 100 each 2,00,000
<2,10,000.
General Reserve : 80,000
Profit & Loss Alc 64,400 (c) Inventories are taken over at book value less
- :
Statutory Reserves 20,000 10% and Trade Receivables are taken over
at book value subject to an allowance of 10%
10% Debentures 2,00,000
to cover doubtful debts.
Trade Payables 5,60,000
Tangible Assets 6,00,000 (d) Trade Payables are to be taken over subject
to a discount of 5% and Unrecorded Loan
Goodwill 4,78,000 s Vg Q
Liability of ¥ 1,54,000 to be discharged by
ventories 2,20,000 BHARAT Ltd. at book value.
Trade Receivables 2,60,000
€) The purchase consideration payable b
Cash at Bank 3,66,400 ( ’ KT Y
BHARAT Ltd. was agreed as follows:

Prior to absorption, SHEENA Ltd. decides to

declare and pay equity dividend @ 5%. The (i) The issue of such an amount of fully paid

business of SHEENA Ltd. is taken over by 14% Debentures in BHARAT Ltd at 96
BHARAT Ltd. as on that date on the following

terms :

P.T.O.
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(i1)

(1ii)

(iv)

28 -

percent as is sufficient to discharge 10%
Debentures in SHEENA Ltd. at a premium
of 20 percent.

The issue of such an amount of fully paid
10% Pref. Shares in BHARAT Ltd. at
125% as is sufficient to discharge 8% Pref.
Shares in SHEENA Ltd. at a premium of
20%.

One Equity Share of ¥ 10 each, I 8 paid
up valued at T 15 per share for every two
Equity Shares held in SHEENA Ltd. and
the balance in cash. The market value of
an equity share of BHARAT Ltd. at
present is I 100.

mxvadmom of liquidation of SHEENA Ltd.
are to be reimbursed by BHARAT Ltd. to
the extent of T 40,000. Actual Expenses
amounted to ¥ 56,400.

Required: Show the calculation and discharge of

Purchase Consideration.

(6+3=9)
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(b) Pass Journal Entries for the following transactions

of NEEM LTD:

(i) Conversion of 8 lakh fully paid equity

(i)

(iii)

(iv)

shares of T 10 each into Stock of ¥ 4,00,000
and balance as 12% fully Convertible

Debentures.

Consolidation of 160 lakh fully paid equity
shares of ¥ 2.50 each into 40 lakh fully
paid equity shares of ¥ 10 each.

Sub-division of 40 lakh fully paid 11%
preference shares of ¥ 50 each into 200
lakh fully paid 11% preference shares of
T 10 each.

Conversion of 12% preference shares of
Z20,00,000 into 13% preference shares of
Z 12,00,000.and remaining balance as 14%
Non-cumulative preference shares. .

(1.5%4=6)

P.T.O.
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OR ALTERNATIVE QUESTION

(a) TASHIKA TUSHAR Ltd. provides you the

following information as at March 31, 2022 :

Particulars ( < in lakhs)
Equity Shares of ¥ 10 each 2000
6% Cum- Pref. Shares of ¥ 100 each 400
Profit and Loss Account (Dr) 60
10% First Debentures 240
10% Second Debentures 400
Debentures Interest outstanding 64
Trade Creditors 660
Plant & Machinery 2878.4

Note : Dividend on Preference Shares are in

arrears for three years.

The following scheme of internal reconstruction

was approved and implemented :

31

(i) All the equity shares be converted into the

(ii)

(iii)

same number of equity shares of T 5 each,
< 2.50 paid up.

The preference shares are converted from
6% to 15% but revalued in a manner in
which the total return on them remains
unaffected. Four equity shares of Z 5 each,
< 2.50 paid up to be issued for cach Z 100

of arrears of preference dividend.

Mr. A holds 10% first debentures for ¥ 160
lacs and 10% second debentures for Z 240
lacs. He is also a creditor for ¥ 40 lacs.
Mr. ‘A’ is to cancel T 240 lacs of his
total debt and to pay ¥ 40 lacs to the
company and to receive new 12%
Debentures for the balance amount. Mr. B
holds the remaining10% first debentures
and 10% second debentures and is also a
creditor for ¥ 20 lacs. Mr. *B’ is to cancel
¥ 120 lacs of his total debt and to accept
new 12% Debentures for the balance

amount

P.T.O.




681 32 681 33
(iv) Trade Creditors (other than A and B) are
: N - AT \ %
given the option of either to accept -
equity shares of ¥ 5, ¥ 2.50 paid up each, FET T Il s 2 10 . 8,00,000
for the amount due to them or to 8% FEaT 99T ISt w34 2 100 2,00, 000
accept 80% of the amount due in cash.
. . . st fisrd 80, 000
40% Creditors accepted equity shares .
whereas the balance accepted cash in full AT AT T T 64,400
settlement. 20, 000
(v) Any surplus after writing off the various 2,00,000
losses should be utilized in writing down . T 2RI 5,60, 000
the value of plant & machinery. : .
T TRET 6,00, 000
Required: Prepare Reconstruction Account. T () 4,78, 000
(12)
wre A At _ 2,20,000
(b) Write any three differences between AS 14 and .
ATITR qToT
Ind AS 103. (3) 2800080
. . o H T 3,66,400

(=) femisr 31 1€, 2022 9% e ffiee & a9 fie @
ﬁ.@ﬂﬂﬂuﬂ%@ﬁd.ﬁaw“

fera 2 2 e, o RRRE X 5% A w0 A A
A R AT HH IR S we v B feran
e ffis a1 s s fifiee g e o
W I 0@ oy el ¥ A for @ -

PIT6,
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, Avimﬂﬂgﬂmomﬂﬁﬂwaa\

m@ﬂﬂﬁﬂwﬂﬂﬂm%ﬂwziﬁm
%q@&%mﬁﬂﬁwmo\mﬂﬁaﬂaﬂ
o a2

(@) s fefide =t wnfy =1 w53 2,10.000 w1 ElE0]
T B

Eﬂw@mﬂwmﬁwﬂwaxmﬂﬂ@ﬁﬁm%
ﬂﬂmﬂjmwmawﬂﬁﬁsﬁﬂw ot o
W = A Fw S R e 0% N e D
T 2

(o vﬁm@mwﬂﬂﬂﬂm#ﬂ@aﬂ@%
m\mwwd%;gaoﬁamww@mﬁﬁs
wﬂ%ﬂﬁ%ﬂﬂﬂzw&&g@mﬁmmﬂﬂ@
2

Aﬂvsﬁ%gﬁﬁﬁqﬂaﬂﬁmﬁwﬁ
A T o R

Csﬂm%wwwoo%sﬂ%ﬁ@mwmﬁ@
T &Y 10 14% BRI & ¥ o s
ﬁﬂ%%ﬁ@@wmwmoﬂmﬂmamﬂﬂ
10% @ﬁﬁ%ﬁ@%@a%w.
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- (i) zzﬂ@@www._muxmwﬁww&ﬂwwuuﬂﬂ
fore M 10% afaen Ja o ¥ wfr S e
%woﬁwﬁwﬂﬂ%ﬂ%wmﬁm@ﬁ
IR F e = & R w2

9:%&%&%3%&%%%
@fmaﬁn@wﬁ%#ﬂ%aisﬁa%
U 3G W, 8 TUQ FT A e @ sk
&aa@ﬁmﬂmﬂﬂ#gdﬂ_%w
A foifics ® sfrdt @ aww w100
T B

(iv) %ﬁ@@wﬂ%aﬁﬂﬂ%ﬁﬂ%n@@zﬁ
fofes smr 40,000 Y G TF F S
Bl aRE = 56,400 T o1

e @|he wiwsr =t o IR e fary
(@) &a@%w%ﬂﬂwu-f%@a%nwﬁam
Fifod -

(i) 10T F 8 A T WWER v e s
wﬁwmwa.oo.oooﬁa%ﬂﬂw%%mw
12 T Radig R¥e & w0 ¥ uRawd @em

(ii) 250 T F 160 TR T SRR R T =t
W F 40 W ot WaE e e efd
I F WFET Fm

P.1.0.
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(i) 40 R F IA-UEET X 200 W T A 50 4 Hre: aaEr R W AT A AT TE R
.ﬁm%zﬁmﬁﬂ,iﬂ@ﬁwmﬁﬂ _
P . el R o FReRa Ao B SRR AR

; Frifeaa f&ar oo
(iv) 20,00,000 T & 12% a0a R T 12,00,000

a%,mo\amﬂuﬁyﬁww%wﬂ%myzﬁ
R -a=d st @ w9 A aRaaa Hfor

(i) T =S IR A 5-5 wY, 250 TY &
s A S wa gen § aRadd fEa

o A&foaes WA FIA
(%) wfie quR ffRe s R a1 A, 2022 A : (ii) a0 F T 6% A 15% A aRafi fran w@
Frer S ST R 2 AT 7a wE ¥ TR fehar e @ o
Bawor (5. =Tm@) aﬂﬂmﬂg@ﬂAiv%ﬁ%w_
=Rt rae T 10 T A 2000 AT AT D TFE S T 100 TR & fog
6% remer ara s 100 % dre 400 o e W § R 250 T & W IR
IR w1 A R w2
=T o grfa @mar (3fEE) 60
10% wgar R ; 240 (i) S v H TE 160 WA T F o 10% W
— o ¥R 3l 240 T T F 10% @ RAR B
10% €67
b qE 40 TG €9 H AER o 21 M T A S
=T =T ST 64

wE HU D 240 TE@ TR B @ FA? I

ST AT 660 : : FTR N 40 ARG T F YIEE FEA 2 3R
|

3w o & fg AT 2% Rew W e R

1 4]
e F 997 2878 .4 i
4 PTG
_ T
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5 @Given below are the extracts from the Balance

Sheets of H Ltd. and S Ltd. as at 31st March

St & & ua AW 10% e BIE #R 10% T
¥R # 3 97 20 @@ T @ forg oER W

2022 :
3 ot @ W I HmE WO @ 120 T TR
5 :
R w T B AR W A v 2% Particulars H Ltd, S Ltd.
A SR FE 2 5 :
Equity Shares of ¥ 10 each 40,00,000 28,00,000
(iv) R JFE (3 R @ A D) W AR General Reserve 24,00,000| 25,62,000
5-5 , 250 & fEad I & 9 e
i i Profit & Loss Alc 12,40,000|  5,22,000
e X uRadd & & e fm W ®, @ \ G
: Loan from S Ltd. (including Interest) 50,40,000 —
g afit @ 80% AAHe X o faewew fam ¥
. Current Liabilities 29,20,000 40,00,000
T R 40% FER ¥ TRES I A WER J ]
i Land & Building 24,00,000| 10,80,000
o wEfe W ¥ gf fuew ¥ Td W b
¥ Plant & Machinery 8,00,000 14,80,000
faran 21 §
Furniture & Fixiures 16,00,000 10,80,000
(v) fafmr afadl = @2 @@ ¥ T & 9 R Equity Shares in S Ltd. 20,40,000 -
5 Py F 39N 49 3R FEEA @ Hed 15% Loan to H Ltd. (given on 01.06.2021) i
y , : 44,80,000
2 @R ¥ TEd ¥ o e 2
Current Assets 87,60,000 17.64,000
T @ daR Eaimed
Additional Information : (4ssume that the profits
(@) AS 14 ¥R 3 103 & 9 1 9 s R are evenly earned throughout the year and ignore

taxes)

P.1.0.
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(a)

(b)

(c)

40
H Ltd. acquired 1,20,000, Equity Shares is S Ltd.
on 1.7.2021. On 1.4.2021, the credit balance of
Profit & Loss Account of S Ltd. was ¥ 8,00,000

and that of General Reserve on that date was

Z 31,70,000.

On 31.8.2021, S Ltd. declared & paid dividend
@ 20% on equity shares for the year 2020-2021,
H Ltd credited the receipt of all dividends to
its Profit & Loss Account. On 1.11.2021, S
Ltd. issued 2 shares for every 5 shares held, as
bonus m?ﬁnm‘. No entry has been passed in the
books of H Ltd. for the receipt of these bonus

shares.

The Land & Building of S Ltd. which stood at
% 12,00,000 on 1.4.2021, was considered as worth
of ¥ 28.00,000 on 1.7.2021, for which necessary
adjustments are yet to be made. The Furniture &
Fixtures of S Ltd. which stood at ¥ 12,00,000 on
1.4.2021, was considered as worth of ¥ 4,00,000
on 1.7.2021, for which necessary adjustments are

yet to be made.

A

681

(d)

(e)

41

H Ltd. and S Ltd. agreed that with effect from
Ist July 2021, for services rendered, H Ltd. should
charge T 40,000 p.m.but no accounting effgct has
yet been given. During June 2021, goods costing
T 94,000 were destroyed against which the insurer
paid only ¥ 8,000 to S Ltd.

H Ltd. owed S Ltd. ¥ 12,00,000 for the purchase
of stock from S Ltd. which made at a profit of
20% on cost. H Ltd sold some of these mooam for
T 11,52,000 at a profit of 20% on its cost till
31.03.2022. On 1.1.2022, H Ltd sold to S Ltd a
Machine for T 9,60,000 at a loss of 25% on cost.
Depreciation at 10% v..m. was provided by S Ltd

on this Machine.

Required: Calculate the Minority Interest, Cost
of Control and the Balance of Consolidated P& L
Account to be taken to the Consolidated Balance
Sheet of H Ltd. and its subsidiary, as at 31st March,
2022. (4+5+6=15)

P.1.0.
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OR ALTERNATIVE QUESTION Additional Information : (Assume that the profits

are evenly earned throughout the year and ignore

: - Given below are the extracts from the Balance _ taxes)

Sheets of H Ltd. and S Ltd. as at 31st March
(a) H Ltd. acquired 1,20,000, Equity Shares is S

2022 : : i
. Ltd. on 1.7.2021 when the credit balance of Profit
& Loss Account of S Ltd. was T 7,66,000 and
Particulars H Ltd SLtd: that of General Reserve on that date was
¢ ¢ T 32,18,000.

Equity Shares of ¥ 10 each | 40,00,000 28,00,000

(b) On 31.8.2021, S Ltd. declared & paid dividend
General Reserve 24,00,000 25,62,000 i

@ 20% on equity shares for the year 2020-2021.
e i iy HeRa s H Ltd. credited the receipt of all dividends to
Loan from S Ltd. (including Interest) 50,40,000 — _ its Profit & Loss Account. On 1.11.2021, S Ltd.
Current Liabilities 29,20,000 40,00,000 . issued 2 shares for every 5 shares held, as
Land & Building 24,00,000 10.80,000 * bonus shares. No entry has been passed in the
. . books of H Ltd. for the receipt of these bonus

Plant & Machinery 8,00,000 14,80,000

- shares.

Furniture & Fixtures 16,00,000 10,80,000
Equity Shares in S Ltd. 20,40,000 - (c) The Land & Building of S Ltd. which stood at
15% Loan to H Ltd. (given on 01.06.2021) o 44,80,000 4 _N.OOQOOO on 1.4.2021, was considered as worth
it At 87.60,000 17.64.000 of T 28,00,000 on 1.7.2021, for which necessary

adjustments are yet to be made. The Furniture &

P.T.O,
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Fixtures of S Ltd. which stood at T 12,00,000 on

Account to be taken to the Consolidated Balance
1.4.2021, was considered as worth of T 4.00.000

Sheet of H Ltd. and its subsidiary, as at 31st March,
on 1.7.2021, for which necessary adjustments are

2022. (4+5+6=15)
yet to be made.
(d) H Ltd. and S Ltd. agreed that with effect from T 31w 2022 A v s ol v s A d
Ist July 2021, for services rendered, H Ltd. should fiic % fawr 99 Ry W # .
charge ¥ 40,000 p.m.but no accounting effect has |
yet been given. During June 2021, goods costing . [EEEL] e fafaes A fofize

< 94,000 were destroyed against which the insurer

T T yEE T 0% 40,00,000| 28,00,000
paid only ¥ 8,000 to S Ltd.

ST e 24,00,000 25,622,000

(¢) H Ltd. owed S Ltd. ¥ 12,00,000 for the purchase AT Az AT 12,40,000] * 5, 22,000
of stock from S Ltd. which made at a profit of

e fafes & o (= af2e) 50,140,000 -
20% on cost. H Ltd. sold some of these goods for : 29,20, 000] 40, 00,000
T 11,52,000 at a profit of 20% on its cost til] .

Ay i e 24,00,000( 10,80,000
31.03.2022. On 1.1.2022, H Ltd. sold to S Ltd. a _

. ] B 0,000| 14,80,000
Machine for ¥ 9,60,000 at a loss of 25% on cost. E T {EH 8,0 .
et o frre 16,00,000] 10,80,000

uw forfiee & o5 omw 20,40,000 —

Required : Calculate the Minority Interest, Cost v farfies i 15% oy T :
, _ (01.06.2021 =7 fagr 7a71) 44,80,000
of Control and the Balance of Consolidated P& I _

adfure gty 87,60,000| 17,64,000

Depreciation at 10% p.a. was provided by S Ltd,
on this Machine.

P.T.O.
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o ST IR W B wE ffRe @ WA 3R
firerea o feeia 14.2021 Y T 12,00,000 o, fErR

sfaRea ST=ert : (W9 A fF e @ ad sl
T RO F & sEewr femr W @)

(%) va fofies 7 vu fafiees & 1,20,000 3 I 172021 & FET FAF T 4,00,000 F A @
stnew fFn 21 femie 17.2021 Y wa fafies & fred U wawE SAEGE R W T SR
A -BI W @ B d9F T 7,66,000 F AT R 3

I @ &1 9w Red =1 sifte aef| 2 32,18,000

<Rl 4Tl

(=) v fafite, 3k va ffies ¥ w=afa @ram &t & o9
| | SEE 2021 A, We <t wE A F forg, v e
(@) fmrw 3182021 =, va fofies 3 ad 2020-2021 & i _ © 40,000 W WE TG HGN, WHfehT I TH FAH L
fog et I W 20% N W A A & oAwon _ h @i FE foRan T 1 S 2021 ® @R, T 94,000

1 3 wwEE fawan va ot F wit e & wita l & @ At AR # oA W fEr oo, G
w AT A IR B @™ # oo & fean e ___ | forg drmeral 3 e fafies &t @A 28,000 1 A
1112021 &1, v fafies ¥ 99w 30 & &9 § aika ] It fran =m

o il
wE 5 I @ g 2 I S fR) 3 aee I "
. | (¥) vu fafits w o fofids & =% =1 12,00,000 T

|

i wits @ fg oo s @ gEa ¥ @ whEfe
F1 g 2, foEs o W 20% T N FAET T

oRa W& @ wE R ?
il fafite ¥ o A =z WAl & 91w 31032022 %
(@) ww fifies 2 vft ok s, fma wea RarE 14.2021 .”_ | ST TR R 20% @ W W 11,62,000 ¥ ¥ fean
| .
I 12,00,000 @1, & f2ArE 17.2021 H 28,000,000 | fomim 112022 @, va fafes ¥ @ s = ane

PiT O,

et s SRR




681

48

T 25% i B & 919 U FI 9,60,000 F a9 o
T w9 W uw fofee smr 0% 9 = A wfy ad

AogEE yer feRar wrar am

e 31 94, 2022 it fufy & sER v fofrs sk
JqS GEUEF FHTA b GgF doig de A o oW @

 for =g T, R @ e SR Gga S - e

e oA @@ e

(11000)
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structions for Candidates

In

1. Write your Roll No. on the top immediately on recelipt
of this question paper.

2

This question paper contains two parts. Both parts
are to be attempted.

PART A

Answer any 3 questions : (3><10:30)

1 What is a notice? What are the different St€ps you

need to follow while writing @ notice? (10)

3

Explain how during dialogue writing you will make the

conversation appear natural and realistic. (10)

3. How would you prepare for a job interview? Discuss.
(10)

p.T.0.
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4 What 1s @ parrative essay? How is it different from
(10)

a descriptive essay?

u need to keep in mind while

5 What are the factors yo

delivering a public speech? (10)
PART B

uestions - (3X15:45)

Answer any 3q

‘Stress Management" ;

6. Write a feature article on
(15)
7.  Write an essay on ‘The Effects of Online Classes’.
(15)

r of the Tours and

Write a report on
mittee

(15)

. You are the student coordinato

Travels Committee of your college.
cent educational tour conducted by your com

are
ed to the Principal.

that has to be submitt

n a bank manager and a
n. There

(15)

Wwrite a dialogue betwee

vail an educational loa

student who wants to a

should be about eight dialogues each.
ollege, you want to conduct a

10. As the librarian of ac
he students.

survey regarding the faci
onnaire for the survey
h multiple options for answers.

(15)

lities required by t
with a minimum

Prepare a quest
of ten questions wit

(100)



